a0s H

BA-214, 314 11244 2&&KIR
%2, 1SO 44014k, 06F110:81R

##4 K290-9/C

BA-214, BA-314 1 BA-244 A% R &iR,
ATOocERZEMN 10BRAREEMEINREE
%, RERFEAFRISO 4401154
SRTERZAMSEESHAR, REE
B, RMHP, TOEEA, BEAKO,
BA-214 ZRTEIR, FIBTREIE104ISO

TEOGIBRIR
BA-314 ZE{RREIR, TTHTLE1FIGHISO
E10ER R
BA-244 KR, AT RE1514481S0
TRAEOBE R 1
WITATREADHETER, BHBEI4D
12.98MeIN/NAIEE (FESTIRM) A%, A%
3K 128%,
I BA-244/2 + BA-244/2 EH0ERIR A5
(1] BA-214 1 BA-314 [RIRHIELS
BA-214 / 5 /P *k
AR R
BA-214 = ISOMT/&, 06
BA-314 = ISOfTA&E, 108
s (N E B 6%) s
1=14 6 =06
2=024 7 =74 ((XXHBA-214)
3 =34 8 =84 ({WXBA-214)
4 =44 9 =94 ({YXBA-214) - = FAMBMIEERD
5=5%4 10 = 1048 ({X3fBA-214) /P = FHAFIBEEERD (RERT BA-214/1 F1FTEH BA-314)
RS PO Ta ABO Qmax Qmax A,.BO Pmax
BA-214 G 1/2” G 1/2" G 3/8” lateral 80 I/min 60 I/min 350 bar
BA-214/*/P G1/2” G1/2 G 3/8” rear 80 I/min 60 I/min 350 bar
BA-314 G 3/4” G1 G 3/4” lateral 150 I/min 100 I/min 300 bar
2| BA-244 RiREIELS
BA-244 / 4 *k
) AR HIS
JEEARERY: 1=14 3=34
BA-244 = |SOfREOEERREIIEINER 2 =24 4 =448
(3] BAISE
. FEMNE
RENE XBA-244, BB 12N TITRA;
MK TR, HEFERREE
P,T,ABO = 350 bar (BA-214), 300 bar (BA-314), 250 bar (BA-244)
THEER
MR E N ARER
MERE -20°C~+70°C
PiiNEUES WEHFFEDIN 51524, 535174, EENRIEHEARKITHRARRSY
A 15~100mm?/s-RARYFEE: NERERRNRELH
SEEEE MEARBEARBHI RIS
SHBCRE MEABARB RIS

K290



4] BA-214EiRKISMEZER F[mm]

PAITA = G 1/2" (51)
AFIBO = G 3/8”

Quax = 80 I/min

Qrax AFIBA = 60 I/min
Prax = 350 bar

IR KEBRTREAKE, WT%:

8 8
T 1
[3 O
M8x13
h ols]
> Q‘ﬁ* G3/8 I:iq
M8x12 - 455 026 M8x12
JIRT R . . P‘Té> G1/2
NGNS o bal A X
T R
@ @ e ¢
6] 38 [16 16 38 |16
G2 70 [ @30
075_, 3175 MS

405

REFE
ISO 4401-0

3-02-0-05

HE 1 2 3 4 5 6 7 8 9 10

RA 70 120 170 220 270 320 370 420 470 520

RE[kg] 2 35 5 6.5 8 9.5 11 125 14 15.5

S54RI ER

5] BA-314ERIISMER < [mm]

PO = G 3/4" (35%)

TH =G 1"(5H)

AMIBO = G 3/4”
Qrax = 150 I/min
Qrex EFCAFIB = 100 I/min 2
Prex = 300 bar N fﬁ

M12x20 g A
@ Ot
Hoxts 845 G1
33 47 25 G3/4 25 47 33 936
r 36 b
L o o o o & it
5 5 b
7%/ PP IR 2 A~ - o N7
J T f% A A A A A o5 1T G3/4
S 1O © © @ @ " -
$ ~ k_/ \$\ M10x16
m\_ 85 !10 40 80 #36 G3/4 10! & !10
S @$ o @$ o é$ @ 3 "I’“
O S
()@ © (>$ < A ©
15.4 80 fgﬁm
1SO 4401-05-04-0-05

FRIRKEBUR FIREHRE, WTxR:
AL 1 2 3 4 5 6
RYA 80 160 240 320 400 480
BRE[kg] 4 8.5 13 17.5 22 26.5

54HBYNL ER




6] BA-214/*/PIEARKIIMEZ R < [mm]

PFITO =G 1/2
AFIBO = G 3/8”

Qmax = 80 I/min

Qrax AFIBO = 60 I/min
Prax = 350 bar

RRFE
ISO 4401-03-02-0-05

MS

5‘ 70 ‘B A 8 70 ‘B M8x12
5 e 3 e 9 ]
P T TP m
e - %1 glg
:I n\& ©
= cue ] T
M8 x12 - - G1/4 35 G1/2 =- - #30
86 ?30 205 45 _|z05 \__ G2
40 50 G3/8 $255 70
)
af & o=
o, e, 0
9, 0, 00, |,
2 lo s @g @ e
EL G3/8 0255 MBx12 Jg& !
EREKEBURTRARE, WTX:
1B 2 3 4 5 6 7 8 9 10
R~FA 160 | 210 260 | 310 | 360 | 410 460 | 510 | 560
BE[kg] 5.4 7 8.7 10.4 121 13.8 155 | 17.2 18.9
5¢AFUI bR
BA-244 [RIREIIMEZ R S [mm]
PFITH = G 3/8"(351%)
AMIBE = G 3/8”
MO = G 1/4" (EHFTEE) 35 | 28,25
Qumax = 35 I/min T
Quax AFIBE = 60 I/min & P
Pra = 250 bar TR e RERE
G3/8 1SO 4401-03-02-0-05
G3/8
21 n
3 37 32 19 m‘ ° o E
9255 - fozss ! G4 1_0@$@° I ;
AP\ Blle ot f Py
1 aa o
©
M B
< sFa¥] _ ® A
mm M A ° o ° G3/8
E —=
i 7% o Ry
] ﬁJEE Yz e
| A -
N° 4 holes 0 7 3 48 40 §
88
O
N°4 M6x16 1@;@ 0
[ L5
R KERATRAKE, ITx: sl o 3
A 1 2 3 4
R¥A %0 | 140 | 190 | 240 BERIR: 4PMExCOMARIRE, 12 0% BEETIRE
FAE[kg] 25 35 52 7

AR bR

TENFE = 15Nm
ZEE: 2xOR3081FEH IR

08/19




